
𝑀1 𝑀2 𝑀3 ⋯ 𝑀𝑛

N1 𝑦11 𝑦21 𝑦31 ⋯ 𝑦𝑛1

N2 𝑦12 𝑦22 𝑦32 ⋯ 𝑦𝑛2

ST = 𝑦11
2 + 𝑦21

2 + 𝑦31
2 + ⋯+𝑦𝑛2

2 𝑓 = 2𝑛
𝐿1 = 𝑀1 × 𝑦11 +𝑀2 × 𝑦21 +⋯ +𝑀𝑛 × 𝑦𝑛1
𝐿2 = 𝑀1 × 𝑦12 +𝑀2 × 𝑦22 +⋯ +𝑀𝑛 × 𝑦𝑛2

S𝛽 =
𝐿1+𝐿2

2

2×𝑟
=

𝑀1×𝑦11+ 𝑀2×𝑦21+ ⋯ +𝑀𝑛×𝑦𝑛2
2

2× 𝑀1
2+𝑀2

2+⋯ +𝑀𝑛
2 𝑓 = 1

S𝑁×𝛽 =
𝐿1

2+𝐿1
2

𝑟
− S𝛽 =

𝐿1−𝐿2
2

2×𝑟
𝑓 = 1

𝑆𝑒 = ST − S𝛽 − S𝑁×𝛽 𝑓 = 2𝑛 − 2

𝑆𝑁 = 𝑺𝑵×𝜷 + 𝑆𝑒 = ST − S𝛽 𝑓 = 2𝑛 − 1

𝜂 = 10𝑙𝑜𝑔
1

2𝑟
𝑆𝛽−𝑉𝑒

𝑽𝑵

Source 𝑓 S 𝑉

𝛽 1 𝑆𝛽 𝑉𝛽 

𝑁 × 𝛽 1 𝑆𝑁×𝛽 𝑉𝑁×𝛽 

𝑒 2𝑛 − 2 𝑆𝑒 𝑉𝑒

𝑇 2𝑛 ST

𝑁 2𝑛 − 1 S𝑁 𝑉𝑁

データ： 𝑦1 𝑦2 𝑦3 ⋯ 𝑦𝑛
目標値：    𝑚

差分： 𝑦1 −𝑚 𝑦2 −𝑚 𝑦3 −𝑚 ⋯ 𝑦𝑛 −𝑚   
信号：        𝑀 = 1
ST = 𝑦1 −𝑚 2 + 𝑦2 −𝑚 2 + ⋯+ 𝑦𝑛 −𝑚 2 𝑓 = 𝑛

S𝛽 =
𝑦1−𝑚 𝑀+ 𝑦2−𝑚 𝑀+⋯ + 𝑦𝑛−𝑚 𝑀 2

𝑛×𝑀2 =
𝐿2

𝑟

=
𝑦1−𝑚 + 𝑦2−𝑚 +⋯ + 𝑦𝑛−𝑚

2

𝑛

= 𝑆𝑚
𝑆𝑒 = ST − 𝑆𝑚

𝜂 = 10𝑙𝑜𝑔
1

𝑛
𝑆𝑚−𝑉𝑒

𝑉𝑒

Source 𝑓 S 𝑉

𝛽 1 𝑆𝑚 𝑉𝑚

𝑒 𝑛 − 1 𝑆𝑒 𝑉𝑒

𝑇 𝑛 ST

静特性 動特性

データ数 𝑛 有効除数 𝑟

データ 𝑦 線形式 𝐿

平均値 ത𝑦 平均傾き β

β =
σ𝑀𝑖𝑦𝑖

σ𝑀𝑖
2 =

𝐿

𝑟β =
σ𝑀𝑖𝑦𝑖

σ𝑀𝑖
2

𝑀𝑖 = 1とすると

β =
σ 𝑦𝑖
𝑛
= ത𝑦

静特性 動特性
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